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MULTIPLE CHOICE QUESTIONS
(Choose the correct answer from the given options)
1 The place value of 5 in the number '35,216 is: 1
a) 50,000
b) 5000
c) 50
d) 5
2 Identify the number on the abacus. 1
T-Th Th H T (o]
a) 65874
b) 97853
c) 75962
d) 86953
3 The product of 0 and 65 is: 1
a)l
b) 0
c) 65
d) none of these
4 Which of the following is a division fact for 4 x 3=127 1
a) 12+4 =3
b) 4+ 4=1
c) 3+1=3
d) 12+6=2
5 The number name for the number 15,287 is: 1
a) Fifty-one thousand twenty-eight seven
b) Fifteen thousand two eight seven
c) Fifteen thousand two hundred eighty-seven
d) Fifty-one thousand two hundred eighty-seven
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Divide 48+6=
a) 9
b) 8
c) 7
d) 6

Which is the biggest 5-digit number?
a) 10000
b) 99000
c) 90000
d) 99999

There are 3,025 students in the senior section of a school and
4,530 students in the junior section. Find the total number of
students in both the sections?

a) 4525

b) 6540

c) 7555

d) 3530

Multiply.
34 x 2000

a) 68

b) 680
c) 6800
d) 68000

10

The result obtained by dividing a number by the other number
is called:

a) sum

b) difference
c) product
d) quotient

11

Roman numeral for the number 37 is:
a) XXVII
b) XXIIV

) XXXVII
d) XXXIIV

12

15 +15 =
a)l
b) 0
c) 15
d) 5

FILL IN THE BLANKS

13

45 x 10 x 28 = 10 x X 45,

14

Round the number to the nearest 100.

15

16

17

State whether the following statements are true or false.
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18 When a number divided by 1, the answer is the number itself. 1

19 56 x 0 =0 1
20 Hindu Arabic numeral for XIV is 16. 1
VERY SHORT ANSWER TYPE QUESTIONS
21 Build the greatest and smallest 5-digit number using the digits 2
6,3,9,7 and 2.
22 Add. 2
7654
+ 3753
23 Find. 2
425 x 3
24 Arrange the following numbers in ascending order. 2
23025 ; 13200 ; 36795 ; 41628
25 Subtract. 2
7654
_ 3753

SHORT ANSWER TYPE QUESTIONS

26 Solve 3
a) 4962 -3841 + 1215
27 Divide. 3

414536

LONG ANSWER TYPE QUESTION

28 There are 125 toffees in a packet. Find the total number of 4
toffees in 24 such packets.

THE END

Prepared by: Ms. Treesa Anju Checked by: Ms. Jimmy Joseph
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